11+ MATHS EXAM QUESTIONS <22

Q32.

Five muffins cost £2.65 and

1Q33.

three coffees cost £3.21
What is the total cost of one

muffin and one coffee?

Alex weighs 81.2 kg, Katie weighs 63.8 kg and Coby weighs 69.4
kg. What is the range of their weights?

an?e = gfﬂjﬁj‘c = Sma”-‘ii'k

Q34.

Rowan has 18 cards. 3 of his cards are queens. Sophie takes a

card at random from Rowan. What is the probability that Sophie

does not take a queen?

r___“ Onemu(ém Eam9a= SE2i=C3 & Net a gpeen = == 5 -
5 4 £053 fanﬁg_ = i7-L*_;<3 L s
r_}%?'_ OZEJC_D(;{—;Q 78;.'2 P(b 9 Ww: —Ej-@
& e 6
4+ O - 5.3
£1:60 i
HL O | 7 bkg _gs_

Q35.

A(ea ol‘ a (ec_{aw Le. Leﬂ tfq 4 wm”i’n
Work out the area of the compound shape below:

A(ca of full Mcfth3(e

| 1) = 10 X9

Dem-2enr = 9Ocm™

= 7".M A(qa oé MISSI’J) (QC‘&GW)‘Q

= 7X6
9cm Llf St > l.|_2cm
2cm

{ Alra o€ Compeund shepe
] : 5 = 90 ~ l(.. 2

10cm gﬂ' L L{—‘g‘—“"z

-4 2 f 2
G g Ceoe

Q36.

Roger is building a model ship. He uses
64 pieces of wood which weigh 52 g
each. What is the total weight, in

kilograms, of the wood used in the
e _

bp=lo00)

Gl 3328 - 16006

model ship?

_..._)f,-.ts:.,i < ggz-gkﬁ
Ol 28
+32 0 0O
332 84
3'328!&9

37, =T TR
Q (.ej O & é(l&r‘ le — }?a
The hexagon below is made up of equilateral

triangles. What is the value of the angle marked?

] @M lcxte(a( ('3} anjl.e

each qnj‘.e is&60°
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Q43. Qad.

Mark on the values on the dials below:

Work out the missing angles a, b, c and d below:

120°c— 18" =517 = 1267

186" -&3°-¢3° = S¢°

Base angfej‘ ‘1 av

isoSceles &(r'cm)(e ade Q@W’\(
Vecticaly cppesite

/ c;my(eS qy('q va«a(

A (gl ﬁ (es 7 w‘? c‘;z{a ﬁﬂjﬁfﬂjw:-—-a -“]:"Spd;\\
Angles on « Staight (rae > I80°

AS oY ho wy

Q45. Q46. Q47.
A bucket holds 4 litres of water. 125 m| of ZOIT ha(s )5 d(;g;"] Shet_has(’ic; bfug ea:h c;og A Write down the co-ordinates of Q.
collar (c) and three tins (t) of dog food. e
water is drained from the bucket every aleng Sk Cocdl A"_ Fese bedoce
. . Z goeing aup the StaicS
minute. How many minutes will it take for the | Write an expression to show how many 33
collars and tins of food she needs to buy? g A (3,8)

bucket to be empty?

xq_gl(,';—raszOOm( 3“‘- (5KC>+(5)(3&>
G (ihees = L.OOOmM( €

= 5¢ + I5¢
OO0 =125 = 32 minutes L < =
o0 32 & e
125 TS0 5(e +3¢) 3
372 minutes 5{‘_ + )5&: @“ (?!8>
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Q52.

If you need 7 pears to make a
crumble, how many crumbles

can be made with 123 pears?

n
(17253

Q53.

In @ Magic Square the rows, columns and diagonals all add up to

the same number. Fill in the magic square below.

AR I

13

Q54.

In the number 69581, what is
the
value of the digit 9?

" Thas, Hond, Tes Ones

6958\

QS5s.

A metal pole is 5 m 7 cm long.
Itis cutinto three equal
pieces. How long is each

piece? |

XS(!'M

= |OCcm
o5
95w = 500w ¥

Work out the missing angles a and b below:

(Arsle o & skeaight [in2 )

e~

SRS
e

d’ﬂyl@d v? A Ef:a;?iu’.}
120"

12-5m=10m + 2.5m

Rem +2em

"

"

JOcm

Elle is drawing a plan of her house. Her

scaleis 4 cmto 5 m. The gardenis 12.5

GQCM - S5m h’*"
al YEem— |0m"~ /2

2em —2:5mF

O N/ w 7 5604 7=507cw
BRI e L R
i 7 As showr 9 OOO f éqcm
Q56. Q57. Q58.

Steve thought offafl{ufber. He halved it, then added

= ,S"Q,_\v S m long. How long is the garden on her of?
106° 180 lan? e
-106 P ot
o1y '

8. The answer was 40, What number did Steve think

az=7,’ b=25°

| Ocm

6t ¢—(Z—F

St

- 8)¢— 40

y kO

e
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Q66. Q67. : y Q68. Q69.
means ouk of 00
What is 5.637951 to two What perceptage of the shape is shaded? Amy spends £3.50 on the lunch at Work out 23
decimal places? school each weekday. How much does 3 =
: S‘lf"“as shaded she spend in a week? i X L:
5-63{780{5! [ =L X?2

T¢e 5 oc moce
3(3‘4 ourd the
numbec ko Ehe

(e€€ up by sne

Five ochool days‘
N q weeK

33 6@
750

8

v 557 £17-50 g
Q70. Q71. biggest to srmallest Q72.
Derek earns £1800 a month. The pie chart below shows how Write these fractions in descepfing order: Here are five scores in a cricket match:
his wages are spent. How much money did Derek spend in
total on Clothes, Bills and Savings? §% + )5‘7 + ]5%, 19 9 xe %% DXG 7x3 14,24 ,5,54,9
< 35% 24 12 e 3x8 62 8x3
C 2 O/ EX0 : The mean score was 30.
Rent 25% P! e ) 2y R .L.G.. 20 Al What is the value of s?
| (307 €540 24 7 L2l iy
5/ = €90 Total = Mean % Amount o€ numbecs
. e F RS
Miscellaneous 5% :' = |50
Entertainment 5% y 354 =30%+54 )G L5 ie
{Clothes 5% ) Q =Esgot €490 24 e
. T—— = l
Food 10% Savings 15% ) = féj’o 54 = =
+, o,c; Ouq
- | O
£€30 As Shown S= kT
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Q102. QL03.67 1 Lot idthx bt | Q104 engbirarcouneh
Wolurme ot a cubes leagtn x width x Leight) P s
The nth term of a sequence is 3n*+ 1. Gina has 5 cubes of cheese with sides of 2cm. Amouse | Work out the perifneter of the hexagon
What are the first three terms of the sequence?

eats 28cm? of the cheese. What volume of cheese does

2 Gina have left?
Ist been = 30) + |
B donly o i A
e 3 ¥ [ C?g{ (s O\ rv? Wig
LA LA — =
= 3ed betm= 334 | c:;.ba Zem =4 O-28 o
- e 2 l E : €m - i 2 c,mg [
{nd Eetm = 5() + Sani ) Voluwme < 222x 2 -28
=3 x4+ =274 tlx? 1 2
= ]2 + ) - 28 = 8(_.!‘\/13
=3 \/aiuxv\,e_ of Cive cubes
T 8Xx5 ‘ ; -
Gy 13,28 = LOcp’ | 2¢m? 12c - &d
Q105. Q106. Q107.
A barrel contains 4 litres of water. There are 5 holes in Ady is 4 years younger than John. John is 9 years older What is the missing number in this
than George. How much older is Ady than George?
the bottom of the barrel and each hole loses 50 ml of N equation?
et Visao(qa \j‘a‘nm Aal\j
water each hour. How many hours will it take for the a2 BL2L
X +9 xX+9-4
barrel to completely empty? .

%i li+ee = iOOOm()ﬁ“
Lelitees = LOOOm( ¢

= w 2808 + 2808 + = x8

+ €
2 Yeous ) 05 3

Wakers (o5t per hou( ‘22 8'10 2 R [‘_gmqﬁ-?_aL}
= Sfi)x 5 3 .
BESE ek 00 ¢ :

Howes wntil empty 25O TS 3 i_g 4

= LOOO 250

=le

£ howes

5 Y eals

IC5s
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Q114.

James has 3.6 litres of apple juice, 800

&8 ikees
millilitres of pineapple juice and 0.09 litres

of orange juice. He mixes them together in

Ql15.

This is a net of a solid. What is the name of the

solid?

Q116.

The table shows information written on a tin of fruit. Grace eats 3

tins of fruit. How many grams of fibre did Grace eat?

11 + Practice Papers
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Lucy has 20 fiction. How many books does

she have in ‘co’cal?l=

— ]
Fickion > & Total—> %

¢
(

2
q
“"iéi"' - (_{. )DDOKS i

=9
& =93¢ bask's )

3 é L:ooi& s

| ZO beoks
=S

]
x9

) 48-Bx3=48-24 =2k
B) 2+4x4)= 2416 = 1|8

A)48-8x3

Per % tin %X ¢ e
s 2]
a bucket. How many litres of liquid is in the 3¢ 3
blidker ] U-He_: 1O OOl Protein 0.9¢g
O -3Uikes = 800m( Carbohydrate 24.6g
3.6 0 Fat 0.3g
6-38 O = Fibre 2.6 %6
Ol e ) | li‘you\ Fold Ehe net up to marxe & = ’5é9
i -
— q a KPshsgfoe,;-éwiFIMqliecACab&lcj 32-@
: X 6 .
- -9 Gtees Cuboid 150 15-Gg
Q117. Q118. Q119. Al angles and sides
ace Qayua'
Lucy collects books. 5 out of every 9 of her Which of the following is equal to 24? Work out the interior angle (d) in the regular hexagon below:
————
books are fiction. The rest are non-fiction. .

Aﬂj'@j‘ ') o lﬂe;aﬂo;
Q) 120"

HQxaqun-) Ll-é—(i‘a\ﬂjlef
S 4 x180°

1268

H Lxagon — 4 awyle:

i

d=720=¢ =)20°
T2
617'26‘

2
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Q132.

What is the nth term of this sequence?

Sl a3 esE s
(==
+a 4 -4

Q133.

Amy starts out on a 195 km journey at 8:55
am. She travels on average at 60 km per hour.

What time does she arrive at her destination?

Q134.

Write %g as a percentage

¢ )
™eans out of 100

13 Q)
60 [E¢)
.

' le
10 k1]

i .

T

= 30%

-—

39

Eric works in a games shop and is given a
discount card.

Eric uses his card to buy a game for £24.75.

The game originally cost £27.50. What discount
does he receive?

2780
=Sotei il S
02765

£2-75

.‘,l

75.

N

A Distinice Soin SCm, 5 V@fun:ra o€ cube
pa Tiene Spedal f =S><f)><d5
= L erha! T _ S 003:28 Ccr 2= 125w’
Tiene = "¢o” 605D Volume of cubsid
Time =3-25bowcs = @xX5XS
Tl'me = glﬂawflSwfnm%QS : = 2@(‘_’)0.,,3
8:55am + 3hours 1S minutes Cm“"otql Volume
= )1:58Sam 4+ |Savautes = ]25 4200
2 . — [’fm = 32S5cm’
= |2:10pm L e ——
- Ln+ 9 K2 g 8cm 325’
Q135. Q136. Q137.

Work out the co-ordinates of W for the parallelogram below:

+3
w(g )

L No
b &’.‘\W?Q

- WI{8,7)
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Q183.

Find the missing number
which goes in the blank:

Simplify the ratio 12 hours : 1 week

7

13x1[ J1=1703 V& houss
s G
Lol o -'—.Iz( )-Ha
B REL ol
3 I :]L;.
How many square numbers are there (3x52—3)+ (32+3) x 22
between 101 and 2007
EE = s L53f25"3>ffﬁ+33xu
j2%=z 12 x12 = 1Ll SL,_ =("7:‘>—-3>’.-(°l+3)xl4.
3% = (2 xs =159 \ Mt = (71 +12) X L
gt = G i A
=2l

24

c)

-
-

i

r“\

il

Q187.

92870 60
=L 060
= S Dé
:—é:)LP
=S
= 207 o¢ é =12
1632
2 G207, "szg"z
a) How many people chose darts? 9
SfocééO“é.pj:q —
.?_ge %% »; ébj‘
How many more members chose Table Tennis over Hockey?3
| 5 —fige 5

Hockey + Dacts

The pie chart shows results of a survey of 60 people.

Football

40%
Table Tennis

25%

Show that 7/20 of the people surveyed chose Hockey and
Darts.

207 41574 7, —>means ouk o€ )00’
85 %

35 1)

100k

/5\5“ S’L»aww
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A row of houses are numbered 1 — 70.
What fraction of the doors have eithera 1

ora 9onthem?

Solve each of the following equations:

a) 50-6m=26

If you look at a clock and the time is a Work out: Part of a number sequence is shown.
quarter to 4, what is the obtuse angle ><>< 2.5 15 2,5;‘ 3 btn s1 o T T T
:xz-s 19,35,45,60,75,92, 105, 120, 135, .
'5 -5 -5 .5 .5 -iS -5 -15
clhOox2-5
If these are the 7th, 8th and 9th values in the sequence, what is
= (4O x2)+ (LOX0S)
szo"?gi%‘ b 80 +20 LR AU
] - s HS
This /s €he Obtuse awﬂ\a = @) +0O
152+ 0
N* Ltewn = 15
5] JO0 ke = ) S X |OO
(] )
50 106 = )500 Elele,
Q225. Q226.

The volume of a cube is 64cm?3. What is the total surface area?

b

Lotal area of
all { £aces

, Es3 i
I :IIIOIHJI?;13;”}1,5"6,,7,:?,“1,2’;2‘1', “lrm e -0 o~ Atee of one face= Lt U
3'13‘:':@‘:‘-?:1;5":5‘:1,(!,(,‘1 k= a =] bem®
.M = ]l R
2 2, @ . o Tokal suctate area = 1Ex G
7oﬁ 5 b) 4k+2=7k-25 i 2 Ylons
I 3
2 Eg? 28 ng:: % 3) :
+25 Vb(w'—' L;."l-\—KLF XC! é
27 = 3k = 16X -
oy =) & = et 5
35 9 =K K=1 = blem T cm
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Q271. Q272. 2 cm 2 cm
N
In a bowl there are 6 apples, 3 plumsand 4 | a) _in[l_che area of this shape.
e et
peaches. If | choose one piece of fruit at Arga o a rectanle 2 leaftlo xwidt ﬂcsz'& 2 [5em 5] 9%
=20 ¥
random, what is the probability. Aza=26 €4 420 em = 2 Cem®
Fakali= GRS St L= Acea = [ Lam® 2 cm
a) Thatitis nota plum? : I ’
) iOcvn! l6-5-3 |« 22X C 10 em
6+ 4 _ 1O b) Find the perimeter. S Zwl = hamt i
z - - vl '
I3 I3 kngth all the way afound '
the shape : i >
b) That it is a banana? Pecimetec = 10424 54245+2+1042434 24342 I i
.;Q__ -0 Per-‘mei:e(:#l,.gr_m , 3cem Zen
183 - — J/
2emn 2emn

Q273.

{se Zod 2ed Lise Sttn
Inthe sequence 1,3, 4,7, 11...ccccvvrivnnnnnnn,

each number after the second is the sum of
the two previous numbers of the sequence.
What is the 9t" number of the sequence?
T+1=18 56&n

11418 =29 —=7th

18 +29 = L7 - San

294472 726 > 96,

e

Q274 Afe;;:a_;;

c;:;g?e = [ewgth % paidtla

The length a rectangle is twice its width. Its

area is 98cm?. Find its length and width,
2x

Le.ngt!ﬂ = 2% Jlewn

| 2x x> =%
!'x 2x*=938
| ED
x*= 1.9
x = Je
X = Jewm
Le ngtL-, = 23¢ Uj-‘déh

L.@.vl9kln =) em

L(ﬂyuﬁ oo Widthy Tt

Q275.

In this question the diagram is not drawn accurately, so the angles
cannot be found by measuring with a protractor. The angles of a
triangle add up to 180°. In this triangle, angle A is the same as
angle B, and angle C is twice angle B. Work out each of the three

X+x+2x =180

angles. o
A4S 90° 42 = 180
. B e
A xggs" ag{b\ ous x = LS
’ ME L["g*o
A=LS® B:=4S* (=90
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Q338.

Find the missing number below :

Q339.

The faces of a regular octahedron are to be

painted so that no two faces which have an

Q340.

Chandu is facing South East. In which direction will he be facing if

he turns clockwise through ﬂiﬁh@ngles?

A group of 40 adults and 16 children paid

£508 in total to watch a football match.

In a sale, prices are reduced by 19%.

What is the sa!e price of a hoody that originally

e e

3
e of |51 =27 edge in common are painted in the same 3x9q0°
colour. What is the smallest number of colours s N 3 =20
b N
&5 . Onl two Co,ou.-rs
d?
u_. 5E ?_7 LEgiie a({uj(e iced fof
e @_’ Ehe uppes four Faces W £
i ancl lower ¢oug faces, B
SW CE
S
2 No({:\n Ease
Q341. Q342. Q343.

Gus has twice as many stickers as Amin and five more than Kaylan.

They have 35 stickers altogether. How many stickers does Gug

Each child ticket cost £6. What was the cost | cost £40? fC‘)/, _-:i O have? Gus Awnin K“j'“"’
of each adult ticket? | 7o — =100 2x = e
Child CoSE‘EéX}é OA-O\F {"_LP@ £l @@"5 53
‘s g ZO;* i —Eo-qo 3
~096F Adulblickeb=lplz—i0 e85 i = 4.0
thi2 e :Lfo_gi" 97 =20% - 1% Th'e o o )

“Elo-30 | /% *€8-foko -0T:6O b

Ol o-3 9% = E1-¢0 £32-40 Gust—aZ::c
Lo [ N2
£10-30 3¢ La ) € seickess
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Q432.

Find the value of y

e

(ijles " a ﬁz.“anj,(-e

Q433.

8 small blocks have the same mass as 5 large
blocks. The mass of one small block is 4.3kg

Q434.

A 2p coin has a mass of 7 grams. Find the total mass of £60 worth
of 2p coins.

Write down all the factors of 88

All Ehe numbers
webichh go inko 88
G:(qcfd/., wddkhouk
A Y@mainded

I,2,4,8 1224438

&3]3 Give your answer in kilograms.
&3]3
- 2 &N
3 |43 “Gog_% ] 20 bt Qx 46)
3143 E 60 =) EOOO zp Ceins
A T
% 8 FOO6 x 7
= e R %'O 180 Find the mass of one large block. i M = 2100 09
+62 159 OZ% oS lage = Sbugy,,  SIR NN it
152 gre ~ alise | laege =6 88y ¢
= Z 'pc9 -
152" 6-88ky 2lkg
Q435. Q436. Q437.

Luckman is playing a game. He throws 9 balls at
a target, one at a time. Each hit is worth 8
points. Each miss is worth -5 points. Luckman
hits the target with 5 of the balls and misses
with the rest. How many points does Luckman
score in total?

H it Miss
o X'E x-S
= Lo = =20
o -20
% ZOfwmf:S
Zofﬂo\‘nES

The diagonals of a square cross at right angles.

On the grid, draw a different type of quadrilateral where the
diagonals cross at right angles.

° ) ° ® ° ° ® [ . .
a pe— ° ° . ° ° °
° -: > ° L] °
e i TR . o Kike
° ° L ° ° ° °
[ ] * L] L ] L L] L ]
° ° ° ° ° ° ° ° ® °
° . ° ° ° . ° . ® ®
° ° ] ° ° [ ® L] ° °
° [ [ ° ° [ ° ® ° °
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T

lyvm= !00;1;0\

Q471.

| am making a scale model of my yacht,
which is 9m long. If the scale is 1:30, how

qO0Oem
long will the model yacht be {in cm)?

Q472.

My friend Mike is making a scale model of

Tower Bridge. Tower Bridge is 60m tall and his
6000w

= 100cm

Q473. (= fé?);;@
An icicle measured 2.13m at the start of a sunny day, but only

213cm
88cm at the end of the day. What length of icicle had melted?

model is 120cm tall. What is the scale of the | o
=] e ) model, in its simplest form? (L
x30 39 | 206000 ~ OE
230900 210 ' £10 i
o - 25
[f7de g i ——
-:-ue;(5 ] )«.‘-lz
b i)
& 50
reiie e @
3QOcm 15356 | 25cm
Q474. Q475. Q476. 120 miles in ovie houe
T
When | lay a new patio in my back garden, | | Work out: A train leaves London and travels at a steady spee%l%@qnmh_ to
will need 290kg of gravel. How many 12kg 35425+ 13 Edinburgh. Before reaching Edinburgh, the train stops in Leeds
bags do | need to buy? after travelling for one and a half hours. The distance from London
12 7 2.5 to Edinburgh is 420 miles. How long does the train take to travel

L0 ¢ bk it
12 [27950
!"QVQEO

Cound wupe
ko 7258 bags

PE 159\95

IcRle TR

i

from London to Edinburgh?
| house = |20 miles
+"§" bhoue =) {Omiles

| % houcs = 180 miles

E houe = ]ZOmileg
x
<? howes =S 2 LOmile s)xz

2 L0 miles = 2 houss
vl-)iaprmil&s-—-} | houcs

3%-'26 !LPZO miles — 3"’3 houes
= B0 = =

2 L O miles from
i leeds to Eal\'nbwyi’\

3‘15 !’\OU\(S
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Q537.

What is three-quarters of a quarter?

S

!
A

X —

e
3
G =
s 1

1L

o

—

-
16

QS38.

Find the sizes of angles x and y.

Q';'mi?ht line
1g0°

Q539.

13 friends win a prize of £385. They share the prize out equally in
whole £1s (no pence). They give the remainder to charity. How
much do they give to charity?

@2 9 (C@\)
'3 ! AMQu.Y'lt 3!‘\4’("‘”

3 i
3 8 ZS ko chacity

£3

Q540.

321 x 57 = 18297
Use the answers to the multiplication

above to answer the following questions:

(a) 18297 + 57
18297

82| = —%5

(b) 570 x 3210
Tzi0 Txis

57 x 32

Gl ]

18297 x)0X10 = g 29700

642 x 114
(c) g2

®zZ XZ

321 € s7

73188

f i
— ¥ ©Ss 2-5
';'k 2,["@7"@
18O
=lc
O 3 [} o
u x=73 9:53-5
Q541.
If the name KATHRYN is written over and over
again like this:
@@0@@0@0@@0@@@@@ @
KATHRYNKATHRYNKA..T

a) Whatis the 17th letter?

What is the 47th letter?

@am % @G-~
._»,N 25 Jetass
CDHN G2oN R K.

8299 x 2 x2 =

Which is greater 90% of 10 % of 300 or 80% of 20% of 200? You

must show calculations to explain your answer.

10 0¢(07, o¢ 300)  §O% m:@

=90/ cf SO (}’O«é
0% =3 eOAt 40
q07 227" JOL o 4O
S 30 '%%U\ 3
3 §8C)/ 32>
307, o¢ 207 0¢ 200
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Give your child the be:s

S
£

Q560.

What ratio is equivalent to 36 : 2167

Q561.

Alisha saves £12 in January, £18 in February, £5
in March and £38 in April. What is her mean

Q562.

Find the area of the following shape. Acen ot o !ectawﬁl&

= (ength x wideh

8200 x 107 1
e o)
ge xle7  “gariadice
= 877400
b) 8774+ 107 Al
8774
82° o7

107

§=4
8
3

A~

L

t hile

3C 2 T 9x8
—:c,< 3 | € >lé monthly saving? \ 4 c 92em?
7 : 3 z ) 1 ———— -
_ (S é . Me_qu = Sun of ﬂ\&.Mfae(‘S. U % Hl;. b A(Qa\ i s E('-“ﬂj[-'t
A f : 6 el Armpunt of numbess 18 z bend Bare i varkiat Le.‘9h{;
6S i
12+18+S +38 = 2
Mean = L 2ol 14cm B - A1x6
% L3 2 72
Méqn—‘— T ! .28 . 5y + 2 7
L 733 "o st = SR 9.9
Mean = 18-25 | = 27 em?
| 1 € f1825 9cm Q9 can®
Q563. Q564. Q565.
You are told that 82 x 107 = 8774 Use this I get £8 pocket money every week. How much Max has more than 4 apples but fewer than 7 apples. Alex has
3 G and &
to work out the value of the following: will | get in a year? more than 5 apples and fewer than 8 apples. How many apples do
& . 6 Qvnd 7
5e weeKs

Max and Alex have altogether?

Write down all the possible values.

4567 8 9 10 1) 12 13 14 15

S4+6 =1\
S+7 =12
€+ 6 T 12
€+717=13

B s
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Give your child the best!
Q581.

Q582.

Q580.

Write down the number represented by Write as a decimal the amount of this shape

There are 500 pupils at Maths school. There are 30 more girls than
MCCCXIV that is shaded. boys. How many girls are there?
M= 1000 Bo:zs Ga‘((S
o + x+30 = SO0

C=100

X = 1.6 2 +30=500

V=5 [35] [-39)

¢ B9 e el 2 ’i %'i)
I = | F(qcku'm shadad = 2= Y EY ‘
; Ea 3, = 235
2 T 05§ Gicls = X+ 30
Grels = 2235+30

Q583. Q584. Q585.

[ilimete s O OOTA%
Simplify the following:

Here are tv%shapes which have the same vertical height:
D‘

(63)- 26l 93)+ 6 ® ' _
T -3a+L4b | i
10m 7 mm
®

a) Work out the area of shape A

Identify the following shapes from their nets

Area o6 a tquu.;.m = "IE'(G + L){-n é - 2
4 { T L"OOO
Scpua(e BQM'J Py(ma'o‘ Hfaquh‘( P("sm = *(g Ho)o .00% m:”
< L (14)o.008 O-064m <|
= 8x0.008=0-06Lm’
b) Find the perimeter of shape B
-3a+lb

Pesimetecoec B=10+7 + 1O 7= 3 v 3L|.mm l
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